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Weak Bases

Weak bases react with water to form the hydroxide ion
and conjugate acid of the base.

Calculate the pH of a 0.221 mol/L solution of
NHs;aq) at equilibrium.

+ -
NH3(aq)+ HZO(I) E’__)_ }\H'}N-(H) t a—l@n
0-22 ¥

*Eqgm greatly favours reverse reaction

base dissociation constan

Ko = qum]Eu@ )= (O, |
[Nty

K- (Ot AR y

R

EOHMl\EHQXD 5YO 22!] ((b |12 107>
[O\-{;,,,,—l 3.8 x IO'('I“/I

~ oo (Ot ) BH o =1t oo
FD"’_\%%K\XD%] pHt= 14000 =549

O 5.419 254:8-589







Ka Kb = Kw

\(b = ki
(@




Worksheet



	Page 1: May 13-7:49 AM
	Page 2: May 24-7:39 AM
	Page 3: May 18-2:31 PM
	Page 4: Dec 16-7:33 AM
	Page 5: May 13-10:58 AM

